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aplbiss = 20, 661, 224
I+ T = 376, 893
PR T = 82,392 | @l 240 m3
T A7 vy PR BEEE 5, 000m3ARN ;
PR T = 34,330 | #@H! 100 m3
T A7 vy PR BEEE 5, 000m3ARN ;
BB T = 198, 801 |#%ih 1 =
WL (-27)
TS TE 1 =
W CEL- ERREY £5T)
BB T = 61,370 |%&Hh 1 =
WL (-27)
DS TE 1 =
W CEL- ERREY £5T)
SEPE AT = 2,342, 300
FEARBRAR T = 2,342,300 |{RA-{K7T (EA) 200 m2
AT
AR 300 m3
Loy 300 m3
7
PR T = 8,222, 451
ARLE G T = 116, 150 | A& IE 654 m2
MEMEL ;
BT Z T = 2,661,814 | &HEERR G 1 =
TA77 W MERZE IR A2 50mm
GiESIRCYE 650 m2
TAT7 MG ZE IR BHEERRUE 5 cm
B 33 m3
EEERR A
RSy 33 m3
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THE4 | R 7THBIIKE T ERAHiEs T4
THX Sy - THE - fER Bz B & & B il ] ) EN
TATTIVhER ;
T8 654 m2
HAITyvv7Y RC-40  EVE 150mm ;
e 654 m2
FRABRIET A2y (20) #%EE 50mm 1. 4mEL E3
.OmPAF
LT Z T = 382,142 | EliZERRGIMT 1 =
TAT7 W MERZE IR A2 50mm
LiESIRCYE 100 m2
TAT7 MG ZE IR SRR 5 cm
Feeuikiin 5 m3
EEERR I
LSy 5 m3
TATTVhER ;
T8 100 m2
HAITyv47Y RC-40 1 EVE 150mm ;
e 100 m2
FABRIET A2y (20) &%E/E 50mm 1. 4mEL E3
.OmPAF
sp=bZ2/R = 5,062, 345 |9& Y av)-} 522 m2
18-8-40 (&) JE20cm ;
R ExiE T = 452, 960
5 3 L = 221,760 |7 =} v=-u 21 m
AN, Gr-C—4E 21mPA_L50maAim  hR &R 4 1F 4%
5 1At T = 231, 200 | #5794 (RRIT) B 1A 20 m
e 1. 1m EEsA
SR LR T = 9, 236, 020
T AR T S 9,236,020 | ik ! A
; 851 BRAE
FEan = 30, 600
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ARmE L =X 1 30, 600 | A2 iEFEE L B 1 =X
[ELRE T 20 1 20, 661, 224
R E =X 1 1,771, 000
IR iR # =X 1 259, 000
BGRESGER (R5th) =X 1 259, 000
ok (EE L) = 1 1,512, 000
Wi TR =X 1 22, 432, 224
B e R =X 1 7, 395, 000
TRl =X 1 48,906, 411
—REEEE =X 1 8, 093, 589
T Fefffi kg =X 1 57, 000, 000
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aplbiss = 6, 900, 087
T Sefg T = 1,654,011
fE+T = 20,938 | KD 1 =X
T
HEL 1 =
T
FEREIE 1 =
BB T = 14,065 |4 1 =
WL (-27)
TS TE 1 =X
W CEL- ERREY £5T)
& T = 19, 840 |f&#a 7 m3
DS TE 1 =X
W CEL- ERRY £5Te)
i 1 T
WL (-10)
BIET = 1 377,715 | HIE 3 m3
24-12-25(20) (F4F) ;
B 1 =
F=<40kN/m2[t=120cm] ;
JIFE K T = 1 1,108,925 |BAGHTEEaY ) -} 6 m
18-8-40 (% 4F) JEIE 100cm & & 20cm ;
KT wy ) i8 12 m2
2% 75cm ;
JIf3A - BiAay )Y =} 7 m3
18-8-40 (F)F) ;
JIRA - BLIA RS (Rf) 5 m3
A4 RC40 ;
BT Ry )b 0.7 m3
18-8-25 (B ¥F) ;
H Hik 0.4 m2
(K$tas)-1)
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BSFT/hd 1kav)y)-) 2 (&30
(A7)
18-8-40 (&) ;
BISFT/h O 1kav)y)-) 2 (&30
(B71)
18-8-40 (&) ;
R )=h 4 m2
18-8-40 () JE30cm ;
HIRLT = 112,528 [V 2/7)-} 4 m2
18-8-40 (F&JF) JE35cm ;
FERERY 4 m2
HEIT9v47/40~0 B 0.2m ;
7" ny sk 2 m2
150kg/fll AT #2 % 350mm ¥ HEAM7° HEAEWREA R
C-40 18-8-40 (FJF) MKy ME ;
V7V 0.2 m3
24-12-25(20) &7 ;
FEEYRE T = 4,348,016
HEmEE L T = 4,303,400 |2/))-MEEMEUE L 11 m3
AR EY) B L
vy - MEEBUE L 1 =
L& BEe M,
ay)-MEIo Y 1 m2
3cmZ Bz 6emPL T
FEIA 0.1 m3
2/ -1k
TEHRALEL T = 1 44,616 | FREM 11 m3
) -hik (&)
BTy 11 m3
a0 bk (&5
FEan = 1 898, 060
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THE4 | R 7HFBE)IAR T Kig#iEst 1.5
THEX 4y « LfE - fliR] B AL ¥ & & gk a1l % iR
KR T = 1 882,760 |K v7 HEK 1 =
0LL 1120 (m3/h) 3 10m VEZERFHEK ;
w7 ek 1 =
0LL 120 (m3/h) A& 10m FERFHEK ;
AEEB T Y 1 15,300 |23 HE A g 5 1 =
ERE T = 1 6, 900, 087
Il R = 1 494, 000
Il = 1 251, 000
s Y 1 197,000 | EARH A BRE 1 =
BIGRE W ER (FE L) = 1 54, 000
Il (R L) = 1 243, 000
T = 1 7,394, 087
B B = 1 1, 333, 000
T 5 = 1 8,727, 087
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B NGRE it 5
THE4 | R 7HFBE)IAR T Kig#iEst 1.5
THEX 4y « LfE - fliR] B AL ¥ & & gk a1l % R
T AERF = 6, 788, 100
) 4T = 6,573, 900
PEHEI T Y 1,029, 900 | 4@ 3, 000 m3
T/ =7 iy R BEEME 5 000m3AT ;
AR T = 1 5,544, 000 | %4 1 7
FHL O-27)
- 2 Y A 1 T
+ab Casl - EARY +E8T)
TG an = 1 214, 200
AEEB T Y 1 214,200 | 22i@ A5 E A iE 5 1 =
ERE T = 1 6, 788, 100
Il R = 1 686, 000
o = 1 114, 000
BlGRE W ER (FE L) = 1 114, 000
Il (R L) = 1 572, 000
il T2 A = 1 7,474,100
B B = 1 2, 878, 000
T 5 = 1 10, 352, 100
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